Patent Pending

HPT 2'x2' Pendant Installation Instructions
Overview

NOTES

>

HELPFUL
VIDEO

« All power connections should be installed according to
local/national codes by a Certified Electrician.

is being installed.

« This installation requires proper support as each luminaire @

[

o

0-10V
Dimming

A brand of L1legrand’

FINELITE

Better Lighting

(F Step 1

Mounting & Suspension
Page 2

Step 3
Mounting Luminaire to Structure *
Pages 4-5

Step 4
Level & Crimp Safety Cable
Page 6

-

Identification & Preparation

This is a hypothetical build to show the capabilities of this luminaire family and mount type. Your build may vary.

' Page 3

Finelite, Inc. « 30500 Whipple Road ¢ Union City, CA 94587-1530 « (510) 441-1100  Fax: (510) 441-1510 » www.finelite.com

1 of 6

12/60 :31¥A IAILOF44T 2N 95¥86 WI04 "QIAYISIY SIHOIY TV "ONI ‘ILITINIH 1202 @



HPT 2'x2' Pendant Installation Instructions
Step 1 - Mounting & Suspension

VOO Bl Top-Down View

Option 1
T-Bar Off-Grid Mounting

J-Box and appropriate 1/4" - 20 Fastener

* Locate power feed on luminaire.

« Install J-Box and electrical conduit at feed location.

* Install appropriate 1/4"-20 fasteners at mounting
point locations. (by others)

« All appropriate 1/4"-20 fasteners are to be secured to
structure, per local building codes.

J-Box
(by others)

Appropriate —®
1/4'-20 Fastener
(by others)

or or or or

J-Box
Option 2 (by others)
Drywall (C4) or other hard surfaces*

J-Box and Anchor Bolts

1/4"-20 Anchor Bolt
(by others)

Locate power feed on luminaire.

Install J-Box and electrical conduit at feed location.
Install anchor bolts at mounting point locations.
All'anchor bolts are to be secured to structure, (by others)
per local building codes.

*Other hard surfaces include: wood, sheet metal panels,
steel beams, concrete or masonry. Use hardware appropriate

for each surface material type.

SISO Top-Down View

:

FINELITE

Better Lighting

A

24"

-

1 16" IS

(Suspension Spacing)

\/

24"

4ll

SR

f
!

(Suspension Spacing)

|

©

_— Feed Location

0.9 2.2

<« 12.7" —>

«— 13.4" —»

Suspension Point

<=5 J-Box
NSE (by others)

2)

1/4'-20 Anchor Bolt - Hard Surface 1/4"-20 Fastener - T-Bar Off-Grid
(by others) V.

(by others)

2 of 6

AL2/60 :31¥A JAILOFA4T 2N 95¥86 WI04 "QIAYISIY SIHOIY T1V "ONI ‘ILITINIA 1202 @



HPT 2'x2' Pendant Installation Instructions

Step 2 - Identification & Preparation

Identify Luminaire

Arrange luminaires in order according
to ID# at their install locations.

CAUTION

Factory Order Unique Luminaire
Job Name Number ID Number
l l l
® ® ®
ABC Corporation - A12345 ID: 1

HPT-RSE -2 -5 8596120 i

-®HPT 2X2 PENDANT INDEPENDENT.—|
NNy

Luminaire Type Full Catalog
and/or Run Length Order ID S

Identify all luminaires by their ID label that can be found on the box and inside the luminaire.
NOTE: Exact location of labels in these areas may vary.

Remove all luminaires from their box.

Refer to Record Drawings that can be found in the hardware Kkit.

Luminaire
ection Type

(L[ CRDARL N Bottom-Up View

Wear gloves to keep diffuser
surface clean.

CAUTION

« Push up diffuser to locate ID label inside luminaire.

FINELITE

Better Lighting

Diffuser

ID Label

Kitted Hardware

« Finelite has provided
items listed here, with
their Finelite part numbers.

5" Canopy
Part# 94085

5" Dual Feed Canopy

These items can be fgund Part# 94145

in separate boxes shipped Mounting Luminaire to Structure

with the luminaire. p. 4, Step 3
» Account for all parts

and set aside until they 2" Drywall Support Canopy

are needed / Part# 94017

' Mounting Luminaire to Structure

» All other hardware needed p. 4, Step 3

for this installation will be

by others.

Cable Bushing
Part# 94014

Aircraft Cable

50" - Part# 94515-12 (Std.)

100" - Part# 94515-14

150" - Part# 94515-18

Mounting Luminaire to Structure
p. 4-5, Step 3

Level & Crimp Safety Cable

p. 6, Step 4

L=

Slip Ring w/ Set Screw >y Safety Crimp

Part# 94015 Part# 94514

Mounting Luminaire to Structure Level & Crimp Safety Cable
p. 4, Step 3 p. 6, Step 4

Gripper

Part# 68129

Mounting Luminaire to Structure
p. 4, Step 3

Level & Crimp Safety Cable

p. 6, Step 4

3 of 6

AL2/60 :31¥A JAILOFA4T 2N 95¥86 WI04 "QIAYISIY SIHOIY T1V "ONI ‘ILITINIA 1202 @



HPT 2'x2' Pendant Installation Instructions FINELITE

Step 3 - Mounting Luminaire to Structure Better Lighting

LS e IS Top-Down View CROTTA R ETTCRORTM U] Bottom-Up View

Feed Canopy (provided)

/“\

Gripper (provided) ﬁ

H
€5 5®— Support Canopy (provided)
J

r— Mounting Bolt (see options, page 2)
:
Bushing/Cable Assembly (provided)

1/4"-20 Stud

Slide canopy appropriate for electrical type options onto mounting bolt (anchor bolt or appropriate 1/4"-20 fastener).
Thread the slip ring onto mounting bolts and secure with set screw at both mounting locations.
Thread the bushing/cable assembly onto mounting bolts.

« Install grippers onto 1/4'-20 studs. While properly supporting luminaire, maneuver luminaire to ceiling and insert cables into grippers to support luminaire from the ceiling.

CONTINUED

Gripper
(provided)

5" Canopy 2" Drywall Support Canopy Bushing/Cable Assembly
(provided) . (provided) (provided)

@ Slip Ring w/ Set Screw
(provided) 4 of 6

AL2/60 :31¥A JAILOFA4T 2N 95¥86 WI04 "QIAYISIY SIHOIY T1V "ONI ‘ILITINIA 1202 @



HPT 2'x2' Pendant Installation Instructions FINELITE

Step 3 - Mounting Luminaire to Structure Better Lighting

(W EVCR AT T LRGN Bottom-Up View

WIRING LEGEND
Hot Line Voltage
White Neutral Line Voltage

Ground

Dimming 0-10V DC
Dimming 0-10vV DC

5" Canopy (provided)

Power Cord ®
Feed power cord through the 5" canopy and connect wires inside the J-Box.
>
IEI.’HLEI
- 5'Canopy ("~ 2'Drywall Support Canopy Bushing/Cable Assembly %
__~ (provided) (provided) (provided)
0-10v
Dimming

@ Slip Ring w/ Set Screw
(provided) 5 of 6

AL2/60 :31¥A JAILOFA4T 2N 95¥86 WI04 "QIAYISIY SIHOIY T1V "ONI ‘ILITINIA 1202 @



HPT 2'x2' Pendant Installation Instructions FINELITE"
Step 4 - Level & Crimp Safety Cable

Better Lighting
A. Level & Crimp Safety Cable UIEVINHRVTA B. Final Step - Remove Protective Film R:IiGInBYRYTA

Level Luminaire
Aircraft Cable (provided) #

Depress to release
locking mechanism

Safety Crimp (provided)

Gripper (provided)

s [

Safety Tab

Protective Film

« CRITICAL: Ensure all leveling has been performed by depressing top of grippers to adjust cable lengths prior to applying safety crimp.
 Run aircraft cable through safety crimp and safety tab, make a loop, and then run aircraft cable back through safety crimp.

« NOTE: Either safety tab may be used. « Remove protective film carefully.
« Crimp and cut excess aircraft cable to lock in place. Typical for each aircraft cable. e Turn power on to luminaire.
= Safety Crimp Bushing/Cable Assembly Gripper

(provided) (provided) (provided)

6 of 6

AL2/60 :31¥A JAILOFA4T 2N 95¥86 WI04 "QIAYISIY SIHOIY T1V "ONI ‘ILITINIA 1202 @



